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PHASE THREE – POINT FORM OUTLINE

A. Introduction










The opening paragraph contains sentences that:
· peak the interest of the audience with a question, or startling fact
· provide brief, factual background information
· give the thesis statement with: topic, position, and area of investigation
B. Body Paragraphs (sequence from least to most important idea)
Subtopic #1 paragraph:
· begins with a topic sentence that states the first main idea related to the thesis.
· explains and analyzes this idea
· provides examples, illustrations, and/or quotations

· ends with a concluding sentence that reinforces the first main idea and makes a transition to the next idea
Subtopic #2 paragraph:
· begins with a topic sentence that states the second main idea related to the thesis.
· explains and analyzes this idea

· provides examples, illustrations, and/or quotations

· ends with a concluding sentence that reinforces the first main idea and makes a transition to the next idea
Subtopic #3 paragraph:
· begins with a topic sentence that states the third main idea related to the thesis.
· explains and analyzes this idea

· provides examples, illustrations, and/or quotations

· ends with a concluding sentence that reinforces the first main idea and makes a transition to the next paragraph
· Tip: The Body of the essay can include as many paragraphs as you need to develop the thesis.
C. Conclusion
The conclusion:
· restates thesis and provides a synthesis of main ideas presented
· makes recommendations, and/or offers solutions
NAME: _____________________
WORKING TITLE: _____________________________
INTRODUCTORY PARAGRAPH:
Background Information: 

August 14th, 1945, marked the end of a long struggle for freedom, democracy, and peace.  At the same time, it marked a change in the nature of war, and the dawn of a new era.  Truman’s controversial decision to drop the atomic bomb on Japan ended the Second World War and began the nuclear age.  Since the end of the war, Truman’s decision has been the subject of much controversy, largely due to the high civilian death toll that resulted from the bombardments.

Thesis (one sentence only):
Truman’s decision to use the atomic bomb against Japan was justified by the historical context of the Second World War, Japan’s refusal to surrender, and the high death toll expected from an invasion of mainland Japan.

Three arguments (point form is okay):
Argument ONE:
1) The use of the atomic bomb was justified in the context of the Second World War.

Argument TWO:
2) Japan’s refusal to surrender made the use of the atomic bomb necessary in order to end the war.

Argument THREE:
3) The bombing of Hiroshima and Nagasaki allowed America to avoid an invasion of mainland Japan.

MAIN BODY PARAGRAPHS:

PARARAPH 2: FIRST SUBTOPIC

Major Idea:

The bombings of Hiroshima and Nagasaki were justified in the historical context of the Second World War.

 

Evidence (Include your source and note card numbers for footnoting purposes) :

1) “With the well-developed understanding that the productivity of a nation was directly connected with its ability to resist, and with the knowledge that particularly in Japan the pattern of productivity was spread widely among small private producers in urban communities, the rationale for mass bombing had been developed.  The distinction between civilian and military targets had approached a vanishing point as war became total.” (3)
 The bomb was dropped on an industrial city in order in order to destroy Japan’s war industries.  As the Second World War progressed, the world adopted a new morality, and civilian bombings became routine, and even an accepted practice.  

 2) “The previously accepted and frequently used mass conventional bombings over Japan and Germany had caused a similar result.  They had merely been less efficient.” (5)
3) During the battle of Britain over 146,777 civilians were killed or seriously injured.  The air-raids in Germany cost approximately 300,000 civilian lives, and injured almost 780,000 more. (2)
4) “The most widely cited figures [casualties from the strategic air campaign on Japan] from the United States Strategic Bombing Survey are 333,000 dead and 472,000 wounded, including 120,000 from the atomic bombs.” (6)
 The destruction wrought by conventional bombings, a common practice during the Second World War, caused similar destruction and high death tolls.  During the war, every country used new technology to gain the upper hand.  Therefore, the bombardment of Hiroshima and Nagasaki represented a culmination in the destructiveness of aerial bombings, not a significant deviation from previous aerial bombing practices.

5) “Aerial bombardment inflicted civilian deaths in Japan measured in hundreds of thousands, but the direct and indirect effects of the blockade in China killed noncombatants by the millions, and the blockade against Japan aimed for the same ghastly results.” (2)
 The devastating effects of the blockade and conventional bombardments would have produced high civilian casualties.  These options would have unnecessarily prolonged the war and the suffering of the Japanese people.  The use of the atomic bomb was no less moral than these horrific wartime practices. (1)
 6) “Nuclear weapons were to be used to save the Japanese nation and the Allied soldiers from the horrors that had been planned for them from conventional bombardment and invasion.”

 The use of the atomic bomb made an invasion and continued conventional bombardment unnecessary, saving the lives of Japanese soldiers and civilians. (3)
Concluding Sentence:
The use of the atomic bomb was not morally unjustified in the context of the Second World War.

PARARAPH 3: SECOND SUBTOPIC

Major Idea:

The use of the atomic bomb was necessary to compel the surrender of Japan.

 
Evidence (Include your source and note card numbers for footnoting purposes):

1) “Tokyo’s aim was to inflict such severe damage and casualties on the attackers that the Allies would be convinced of the futility of further fighting and of the wisdom of negotiated peace.” (11)
 Japanese military continued to fight, convinced they had to achieve victory through extreme sacrifice.  The Japanese military were mounting a desperate last defense of mainland Japan in hopes of inflicting as severe damage on Allied forces as possible. (17)
 2) “the Joint Chiefs ‘saw no prospect of surrender until the army leaders acknowledged defeat’ either through actual defeat or the realization that the military’s survival was at stake.” (13)
 The Japanese military could only be compelled to surrender through absolute defeat through an invasion, or by the significant shock that resulted from the use of the atomic bombs. (15)
 3) Secretary of War Henry L. Stimson: “To extract a genuine surrender from the Emperor and his military advisers, they must be administered a tremendous shock which would carry convincing proof of our power to destroy the empire. Such an effective shock would save many times the number of lives, both American and Japanese, than it would cost.” (12)
 Dropping the bomb produced sufficient shock to successfully demonstrate the power of the United States, forcing Japan to surrender.

 4) “It was thought that the effects of the bomb on such a target would make the maximum impression on the military and civilian rulers of Japan.  Any more sparing course was deemed by Stimson and his associates on the Interim Committee to involve a ‘…serious danger to the major objective of obtaining a prompt surrender from the Japanese.’ ” (7)
 Defeat in the Pacific, the Allied blockade, and devastating conventional bombings could not persuade Japan to end its war.  Therefore, the destructive power of the atomic bomb was necessary to compel the surrender of Japan through shock.

 5) One of the Emperor’s closest aids, Koichi Kido said: “We of the peace party were assisted by the atomic bomb in our endeavour to end the war.”

 The atomic bomb attacks broke the political stalemate between the Emperor and the military, and offered Japan an opportunity to end the war.  The Emperor was able to justify surrender by the vast number of civilian casualties that resulted from the use atomic bombs. (5)
 6) Marquis Koichi Kido, Lord Keeper of the Privy Seal and Emperor Hirohito’s closest advisor stated: “If military leaders could convince themselves that they were defeated by the power of science but not by lack of spiritual power or strategic errors, they could save face to some extent.”

The atomic bomb offered the Japanese military a way out of the war, allowing the Japanese military to be convinced of defeat. (5)
Concluding Sentence:
Despite its seemingly futile position, the Japanese military refused to surrender, planning to fight desperately until they were entirely destroyed.  Thus, it was necessary to use the atomic to shock the Japanese military in order to compel a Japanese surrender.

PARARAPH 4: THRID SUBTOPIC

Major Idea:

The use of the atomic bomb was a military necessity in order to prevent a costly invasion of Japan.

Evidence (Include your source and note card numbers for footnoting purposes):

1) “On June 18 [Marshall] had estimated 350,000 Japanese on Kyushu.  ULTRA now reported 600,000, ready to fight to the death.  (This estimate in turn was much too low; after the war it was discovered there were 900,000.)” (6)
The estimates of 40,000 deaths in an invasion of mainland Japan were based on flawed intelligence.  By late July, the number of Japanese troops prepared to desperately defend their homeland by inflicting severe damage on American troops was almost three times the original estimate. (14)
2) “During the final week of July, Marshall told the president at Potsdam, Germany, that OLYMPIC and CORONET would cost a minimum of a quarter-million and possibly a million American casualties.  It seems likely that the wave of reinforcements that ULTRA spotlighted played heavily on Marshall’s mind and caused him to revise his earlier casualty projection dramatically upwards.” (12)
Based on Japanese decrypts, General Marshall realized that the number of American casualties would rise as a result of the Japanese buildup to defend Japan.  The invasion of Japan would result in a high loss of life.

3) “In the three months since Truman took office, American battle casualties in the Pacific were nearly half the total from three years of war in the Pacific.  The nearer victory came, the heavier the price in blood.” (9)
 Casualties from previous battles in the Pacific had been high, forecasting a bloody and costly invasion of mainland Japan.

4) General Marshall stated: “The Japanese had demonstrated in each case they would not surrender and fight to the death…It was to be expected that resistance in Japan, with their home ties, could be even more severe…So it seemed quite necessary, if we could, to shock them into action…We had to end the war; we had to save American lives.” (21)
 As American forces approached Japan, Japanese forces resisted further, inflicting a large number of casualties on Allied forces, and sustaining high numbers of casualties themselves.  An invasion of mainland Japan was expected to be met with fanatical resistance, causing a high number of American casualties.  The cost of an invasion of Japan justified the use of the atomic bomb as saving American lives.

 5) “About ten times more Imperial that U.S. soldiers died on Saipan and Okinawa; twenty-five more died to Tinian and in the Philippines.  Civilian deaths rose into the several hundred thousands, especially on Saipan and Okinawa.” (13)
The prevention of an invasion of Japan not only saved American lives, but Japanese lives as well.  Throughout the war in the Pacific, the Japanese sustained more casualties than the America forces.  An invasion of mainland Japan would have resulted in a high casualty rate among both Japanese soldiers and civilians.

 6) “The people who would have suffered most, had the war gone on much longer and their country been invaded, were the Japanese.” (11)
 The atomic bombs ended the war before an invasion was necessary, thus saving both American and Japanese lives.

Concluding Sentence:
High American and Japanese casualties expected from an invasion of mainland Japan justified the use of the atomic bomb as a military necessity.

PARARAPH 5: CONCLUSION
Restatement of Thesis:
The historical context of the Second World War, Japan’s refusal to surrender, and the high death toll expected from an invasion of mainland Japan justified the use of the atomic bombs against Japan.
Restatement of three arguments:

Despite moral objections to the use of the atomic bombs, the bombings of Hiroshima and Nagasaki were justifiable in the context of the Second World War.  The bombings produced a sufficient shock to compel the surrender of a Japanese military struggling to fight until they were destroyed entirely, and prevented a costly invasion of mainland Japan.

Additional Comments:
Though today it is easy to judge the use of the atomic bombs as wrong because of their destructiveness, the primary factor in Truman’s decision to use these weapons was a desire to end the destruction of war.










